1. (2x+y) (-x+2y) 9 A7NANA o] ASE Fatolat.

SR
-



QB x4y =31, x-y = 11 A& 018810] (2 — dx +4) -
02 - 2y +1) 9] & Fafedel.

e =
-



3. a-b=3% W, a®-2ab+a+b>-b-52 gk FotH?

D 4.5 ® 6 B 7 @ 8 ®B 9



T oA 2 4 ax—4=0,4x2 +ax-b2 EE
5 a, b2 Fa+b o g oY

D 2 ® 4 ® 6 @ 8

o
R

A7 x-14 o,



(x+3) (x—a) =2 7F AZ7E %

W, a7t B 5 G 3l B

5.



6. (x+y)(x+y—-1)-20< 12 ALESF A7

@ (x+y-5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-4) @ (x-y-4)(x-y+5)

® (x—y-5)(x—y+4)






o A 224 (-2y43)x—(3y-1) (y+2) & AFEolicste] L2 A S
Az Est?

@ 2x-2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3



@ a* + 2ab + b* = (a+ b)?
© a® -2ab+b* = (a - b)?
© a®>-b*>=(a+b)(a-b)
® x*+(a+b)x+ab=(x+a)(x+b)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)

® ma+ mb =m(a—+D)

@® @, 6,80 @ ©, 6,80 ® ©, 6,80
@ ©.O®. 70 B ©.®. 70

ot

hi



10, 49x% -9+ 1wy + y* & A2 AEY (ax + y 4 b)(ax + cy + 3)
7F = 3Aek. oldl, <4 a, b, ¢ ol W5k a - b + ¢ O] Fh= TSP

@D 2 ® 4 3 6 @ 11 B 16



